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A survey was taken of 200 students.

14, Forty are left-handed. What percent is that?
15. One hundred and twenty wear glasses. What percent is that?
16. Two hundred like popcorn. What percent is that?

A survey was taken of 345 people attending a wrestling match.

17. This was the first match that 66 had attended. What percent is that?

18. How many had attended other matches?

19. What percent had attended other matches?

20. Three hundred people believed that the matches were real. What percent s that?
21. How many people thought that the matches were fake?

22. What percent believed that the matches were fake?
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Spinner 1 and then spinner 2 is spun. Aa
1. Draw a two-stage, eight-branch

tree diagram listing all

possible outcomes.

spinner 1 spinner 2
Wiite the following as simplified fractions.

2. PAA) 3. PAC) 4. PCA) 5. P(Aon first spin)
6. P(lettersmatch) 7. Pletters different) 8. P(8 on second spin)

Elvira has won a contest. To determine how much she has won, she spins a spinner twice. Her
take is the sum of the two spins.

9. Draw a tree diagram listing the nine possible outcomes.
10. What is her largest possible take?

11. What is her smallest possible take?

Write the following as simplified fractions.

12. P(31,35) 13. P(85,51) 14. Pwin $6)  15. P(win more than $5)
16. P(520,$20)  17. P(win less than $50)
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Emelia throws two darts at the dartboard. Her score is one more than the sum of the numbers.
For example, 4 and 6 gives her a score of 11.

4 5 6
11. Copy and complete the table.

12. What is her highest possible score? 4|9
13. What is her most likely score?

A :
Write as simplified fractions. L =
14. P(even) 15. P(more than 1) 16. P(even, more than 11)

17. P(even or more than 11)

Draw the tree diagrams for the following experiments.

18. A nickel and then a dime are tossed (four branches).

19. A tetrahedral die labeled A, B, C, and D is tossed and a spinner labeled A and B is spun
(eight branches).




